IBE RBRIE Y — A5 A1FH (35:8)

TEDEK / BEESR | Fin

R EhE 0 1 2 3 4 5 6 7 8 10 11 12 13 16| #85
TT/I94ILA 3 1 2 3 1 1 1

HUERNIE—E % 1 1 1
/894)LA 1 1

Y IAVES SN 1 3 4 5 2 1

IAATSA TR 4 2 1 1 1 1

KiE 1 4 2 1

BN LR 1 1

=R BE 1

BEE R

RE 3 9 8 10 4 10 3 2 2 2 1 1 1 1

TEDER / BRER |HA

LR MOLE Z0f | A &E) |[$TH B nE 3 FERL | #RE

TT/I4ILA 1 3 5 1 1 2 13
hoERNsE—GR 1 1 3
/a7J74J)LA 2 2
Y IAVES SN 5 4 5 1 1 16
IA2TS A% 6 1 1 2 10
KiE 3 1 3 1 8
B~ LR 1 1 2
= MERIBE 1 1
BERREE 1 2

#E 1 5 22 6 10 3 3 2 5 57




